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GENERAL STUDIES

Paper 1

Time - 3 Hours |/ [ Maximnum Marks - 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written In the medium specified (English or
Kannada) in the Admission Tickel issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for (his purpose. No credit will be given for the
answers written In a medium other than that specified in the

Admission Ticket.

Candidates should attempt questions from all Parts.

. .".

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specitfication given for the question.
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PART A

Answer any fwo of the following questions in not more than 200 - 250

words each Z0x2=4()

{a) Discuss the stalement that the British conquered India “in a fit of
absent-mindedness”.

(b) Comment on the view that modern Indian nationalism was the
cexpression of the aspirations and frustrations of the emergent
middle elass.

{cy  Point out the contributions of Sir M. Visweshvaraiah to the
modermzation of Mysore.

(d} Trace the stages in the unification of Karnataka.

Answer any four of the following questions in about 100 - 120 words

cach : Tlhxd=:4(}

(a)  Summarize the arguments of the “Drain theory”.

(b} Was Chauri Chaura reason enough for the suspension of the
Non-Cooperation Movement ?

(¢} llow Gandhian was the ‘Quit India’ Movement ?
{(d} Bring out the peasant content in the Nagar Rebellion.

(e) Can the work of Tipu Sultan be described as “confronting
colonialism” ?

(f)  Highhght the work of Dr. Shivarama Karanth in popularizing
sclence.

Answer any fwo of the following questions in about 50 -- 60 words cach :

axZ2=10

(a)  Wrile a note on the contributions of Mrs., Annie Besant to the
Home Rule Movement.

{b} Why did the Congress ministries resign in 1839 7

(e Outline the Impact of the Indian National Congress in the
Hyderahad-Karnataka region during the Freedom Struggle.



1.

{3} CC

wen A
TYAT ORPIDETA LHUR: %%rfﬁ?ﬁ Zer 200 Dol 250 TIonen cotTmos
IZOR. 20x2=40
() "RITT> RTSHY wRImaRgdhene RepdacEty” 2ow EePFonhdy,
kI

(b & (RUZT U °oi:mc5@ =lat LMenRsdg ShpEn Sned
BE0E Y T Izatvﬁmf BRHICIHNT o) cgf%é’ °R§CJ 2omy T,
SRTORT I ?

(c) ﬁiﬁ,@dﬁ DI SEIFLFTDE, TOT et &%KD’:U’LJDQ TOY NeAT BRI

i) FREOLITE D30T a‘cérf?@ AC2,.

100 - 120 ﬂdﬂ‘@’&u tlews - 10x4=40

(3} “Fprdd Ampo”y) solAT SRINY mUeoTawEy wIdhY.

b) exERT  Eemiond, Lodnmisvmad, PoPo;y Ul
TR R00GE g ?

fer ¥ BoloiR’ WHERole modon =g, mr@cﬁa T {03y Y

(di  mmTt ooy 63 ROWOH LLITHY 33®w
fer BFR WOINT TORETF, TREALON LTLT SET DecT

[

BINS WINRmROTs e, S3nYn wu3bi. T 3odsomd PITT WO

)

&
&y
Q
2

(f:  Senaz=ms uﬁ%@ﬁné‘:‘:ﬁ@ B0, STTOEN F0ULBT: ST TURD

& d. =
N . heho
WY TTY, BA
Lo

FONT CIDPToOTE ST TFNIW 3w 50 - 60 Ionel ecmod LuZdy
- 5x2=10

(w ‘Tato TRoP wwadn Giatd e o omt Jan dnmn w0®

(hr 1939 ©d seorin® <udao  (Congress Ministries) T2 eoson
RU@&%G(—\T) ?

(¢ ®2Zog, | oM WONYERQ [uosenot-smeus asdes  Sed
LU T co FRoNAS WD Trewnih, JEDY
Y, ) ) =

{Turn over



(4}

Write briefl noles on all of the following in about 20 — 25 words each
2xH5=10

{a) The ‘Black Hole” of Calcutta

(b} Gandhi-Irwin Pact

{c} Aihole

{d} The element of social protest in Bhutaradhane

e} Field Marshal KM. Curiappa
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PART B

Answer any three of the following questions in about 200 — 250 words
each : 20x3=61}

ta} Discuss the contradiction between development and conservation of
nature. What pesition would you take if the option were either one

or the other ? Delend your answer.

(b} Dring out the details of the nuclear deal between India and the
United States of America. Is it in accordance with India’s
Non-Aligned foreign policy ?

(¢c) Highlight the impact that the resurgent Chinese economy has had

in reshaping inter-state relations in Asia.

(d)  Give a schematic account of the categories for reservation employed
by the Havanur, Venkataswamy and Chinnappa Reddy

Commissions for the socially and economically backward classes.

(e} [Juxamine the major problems faced by the Karnataka film industry

in reeent years.

(I} Do you think that poverly and unemployment arc inter-related
problems 7 If so, how have our national ecconomic planncrs been
attempting to alleviate poverty through employment generation
programmes since 2002 — 03 7

(g) Examine the Micro-credit system introduced by Muhammed Yunus.
Answer any six of the following questions in about 100 — 120 words each :
10xb=h1)

{a) llighlight the salient features of the anti-monarchical and

democratic movement in Nepal in the last two years.
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(i)

()

(8]

How has the United States of America reacted to the nuclear
programme of North Korea ?

Mention the main provisions of the RTI Act.

Discuss the implications of the proposed Greater Bangualore
Authority for selving infrastructurc-related problems.

Highlight the major policy measures initiated by Karnataka to
retain children aged 6 — 14 years in school.

What are the measurcs taken by the Government of Karnataka to
rectify regional imbalanceg 7

Analyse the main sources and problems of non-institutional sources
of credit to the Agricultural sector.

Discuss the recommendations of the Mahajan Commission regarding
the boundary disputc between Karnataka and Maharashtra.

Assess the coniribution of the corporate sector to the promotion of
sports in India.

Our urban complexes are not equipped to face natural disasters, —
Do you agree ? lllustrate your answer with the recent flooding of
Mumbai caty.

Answer any four of the following questions in about 50 — 60 words each :

(a)
(b)

{c)

Sxd=20

Justify India’s claims to a seal in the Security Council.

What are the main aspects of the Common Minimum Programme of
the UPA Government ?

Highlight the main provisions of the award of Cauvery waters by
the Tribunal in 2006,

Account for the success of the Indian Raillways in recent months.
Discuss Wind as a non-conventional source of energy in Karnataka.

Explain the importance of gender-budgeting for Karnataka state.
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8. Write brief notes on all of the following in about 20 - 25 words each :

Ball tampering
Amitabh Bachchan
“GGandhigiri”

The Koragas

Datta Peetha tradition
Lashkar-e-Taiba
Magsaysay Award
Michael Schumacher

Kiran Desai’s Booker Prize winning novel

Minimum Support Price

2x10=20)
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PART C

State whether the following statements are true or false. Justily
your answer :

(1)

(i)

(i11)

Smitha travels from Bangalore to Hassan at a speed of
40 kmph and returns at a speed of 60 kmph. The average
speed during the entire trip is 50 kmph.

In a locality with outbreak of cholera, 60% of the inhabitants
were attacked while 70% had been inoculated, The minimum
percentage of persons who were inoculated but attacked is 10.

The salary of a person is first increased by 20% and then
decreased by 5%. The net increase in salary is 15%.

The table given. below shows the distribution of the life-time of 400
clectric tubes :

“Lifc-timo (hours) No. of tubes
300 — 399 14
400 — 499 46
500 - 599 58
600 — 699 76
700 - 799 68
800 — 899 62
900 - 999 48
1000 — 1099 22
1100 ~ 1199 6

Find the percentage of tubes whose life-time 1s

(1)
(11)
(1i1)

{iv)

at the most 599 hours.
at least 600 hours but not more than 999 hours.
less than 700 hours or more than 1099 hours.

more than 1200 hours.
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(¢y Distinguish between
(i)  Bar diagram and Histogram
(i1}  Scatter diagram and Ogive curve
State how these diagrams are useful in data analysis.

10. (a) Illustrate, by a suitable diagram, the following data on the
expenditure of a typical middle class household :

Item Percentage of Total
Expenditure
Food 50
Clothing 15
Housing 15
Fuel and Light 7
Education 8
Miscellaneous 5

tb)  In the set-up of (a) given above, find out the actual expenditures, if
the total expenditure is Rs. 12,000.

(¢} The following values of related variables x and y are given :

X : 4 10 12 14 20
v 8 16 40 42 46
(i)  Compute Pearson Correlation Cocfficient r and 100r°.

(1) Interpret statistically the values obtained in (i).

(in) I every value of x is doubled, what will be the new value
of v ? Give reasons.
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